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Course 2-6 “Abstract interpretation: application to verification
and static analysis”
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Subject of the partial exam of
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The questions can be considered in any order (assuming the results of the previous ones).
The grade of each question will be marked independently of the others. If a question is
ambiguous or even erroneous, it is part of the question to solve the ambiguity or error. The
difficulty of each question is estimated by one star for the easiest and three stars for the more
difficult ones. Course handout and personnal notes are the only authorized documents.

1. Traces

Given a set §, we let S* be the set of finite sequences over the set S including the empty
sequence €, ST = §*\ {e}, S¥ be the set of infinite sequences over S, S* £ §* U S¥ be the
set of finite or infinite sequences over S!, and S® £ ST U S“ be the set of nonempty finite or
infinite sequences over S. We let |o| € NU {w} be the length of o € %, in particular |e| = 0
and 8" £ {0 € 8* | |o| = n}. We let « be the concatenation of traces so that cs0 = 0ee =0
and 0«¢ =0 when 0 € §¥. If 0 € ST then |o| >0 and 0 = 0ge014...00p-1. f 0 € S¥
then o] =w and 0 =0ge01e...e0,0....

Given X,Y € p(8%), we define X & X NST, X 2 XNSand X TY £ XT C
YTAXY DYV,

Question 1.1 (%) Prove that (p(S8*), C) is a complete lattice (and provide the infimum,
supremum, least upper bound (lub) U and greatest lower bound (glb) M).

2. Trace semantics of the eager A-calculus

2.1 Syntax
The syntax of the A-calculus with constants is
X,¥,Z,... € X variables
c € C constants (XN C = @)

IThe “proportional to” symbol o is used as a pictogram similar to “infinity” oo but with the possibility of
emptyness.



n= 0] 1] ...
e Vv values
c| Ax-a
e [ errors

® o < < 0
I

2= calea
a,a’ai,...,b,,... € T terms
a == x|v]aa

We write a[x < b] for the capture-avoiding substitution of b for all free occurences of x within
a. We let F'V(a) be the free variables of a.

2.2 Trace semantics

We define the call-by-value semantics of closed terms (without free variables) T = {a € T |
FV(a) = o}.

The application (Ax«a) v of a function Ax «a to a value v is evaluated by substitution
a[x <« v] of the actual parameter v for the formal parameter x in the function body a. This
cannot be understood as induction on the program syntax since a[x < v] is not in general a
strict syntactic subcomponent of (Ax «a) v. Recursion will be handled using fixpoints in the
complete lattice (p(T°), C) of traces defined in Question 1.1.

For a € T and o € T*, we define the application aQo of a term a to a trace o to be
o' € T* such that Vi < |o| : 0, = a 0; and similarly the application c@a of a trace o to a
term a to be ¢’ such that Vi < |o] : 0 = 0; a.

The bifinitary trace semantics S € p(T™) of the closed call-by-value A-calculus T can be
specified in fixpoint form S = 1fp"~ F where the set of traces transformer F € p(T™) — o(T™)
describes big steps of computation

F(S) 2 {veT”|veViu (a)
{(Ax*a)veax«—v]eo|veVAalx«—v|.oeS}U (b)
{oc@b |0 € S“} U (c)
{(c@b)e(vb)eo |c#eNoeveE STAVEVA (VD)o € STU (d)
{a@o |a e VAG € S} U (e)
{(a@c).(av)ed' |a,vEVAT#ecNTvE ST A(avVv).0' €S} (f)

The definition of F has (a) for termination, (b) for call-by-value 3-reduction, (c¢) and (d)
for left reduction under applications and (e) and (f) for right reduction under applications,
corresponding to left-to-right evaluation. (b), (d) and (f) cope both with terminating and
diverging traces.

Question 2.1 (xx) Prove that F is C-monotone but not C-monotone (e.g. using the term
0 0 where § = Ax *x x).

Recall that S* £ S5NT*, $¥ £ 5NT¥ s0 ST NSY =2 and define
St 2 1" Ft  where ﬁ*(S) = (ﬁ(5+))+ .
Define
S £ ofp- F¥ where F(S) £ (F(StUS¥))~.
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Question 2.2 (x) Prove that St and S are well-defined.

Question 2.3 (xx) Let Lt and L™ be a partition of the set L. For all X,Y C L, define
XT2XANLH, X" 2XNL, and (XCTY)2 (X+ CYH)A(X- DY) Let F € p(L) —
o(L) be C-monotone® such that VX C L: (F(X))* = F(X*). Define F*(X) £ (F(X™))*,
St =1ifp” Ft, F-(X)2 (STUF(X7))", S =gfp F.

Prove that S 2 St US™ = ifp- F.
By Question 2.1 and 2.3, it follows that

§ 2 §ryuS® = 1p F. (1)
Question 2.4 (xx) Prove that
S = gfp F.
Question 2.5 (xx) Prove that the bifinitary trace semantics S s suffix-closed in that

Vo €T®:a.0€8 — o0€8.

Question 2.6 (x) Prove that the bifinitary trace semantics S js total in that it excludes
intermediate or result errors

VaeT:Ao,0' €T ,e€E:aec.e.0 €5.

Question 2.7 (x) Prove that the finite mazimal traces are blocking in that the result of a
finite computation is always a final value

Vo e T°U{e}:0.beS" — beV.

3. Relational semantics of the eager \-calculus

3.1 Relational abstraction of traces

The relational abstraction of sets of traces is

a € p(T7) — o(Tx (TU{L})) (2)
a(S) £ {{oo, on_1)| o€ SAlo]=n}U{{og, L) |0 €SA|o|=w}

v € p(Tx(TU{Ll})) — p(T)
W) & {oeT®|(lo|=nA{og, on1) €T)V (lo| =w A (00, L) €T)}

Question 3.1 (x) Prove that

(p(T®), C) = (p(T x (TU{L})), C) . (3)

2but not necessarily C-monotone.



The bifinitary relational semantics S £ «(S) = a(lfp- F) can be defined in fixpoint form
as Ifp- F' where the big-step transformer F € o(T x (TU{L})) — o(T x (TU{L})) is

—~

F(T) v,v) |veViu (4)
(Axea)v, r) |[veVA(ax v, r) e T}U

(@b), L)[(a, L) eT}U

(ab), ry|{(a,v) eTTAvEVA((vb), r)eT}U

(ab), L) |[aeVA(b, L)eT}U

(2 b)

{(v,
{(
{(
{(
{(
{{ ;)Y la,veVA(b, v)eTtA{(av), ryeT}.

a

Question 3.2 (x) Prove that F is C-monotone but not C-monotone.
Question 3.3 (xx %) Prove the commutation property o F(S)) = F(a(S))
Question 3.4 (x) Prove that gTa a(ST) = ifp" F* where FH(S) £ F(SH).
Question 3.5 (xxx) Prove that 5 2 a(S¥) = gfp” F* where F*(S) £ (F(S U S«))v.
Question 3.6 (x) Prove that S 2 (S) = a(ifp F) =1fp F

Contrary to the case of the trace semantics in Question. 2.4, the relational semantics
cannot be defined coinductively.
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Question 3.7 (%) Prove that (ifp- F)™ C (gfp- F)* and (ifp- F)* = (gfp- F)“ so

—

S 4 g F.
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